
Homework 10 – Solutions 
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Solution Mark Total Comment

(a)

(b)

(c) 

Taxable income is £60,000−

£12,500 = £47,500

20% tax is £37,500× 0.2 = £7,500

40% tax is charged on £47,500 −

£37,500 = £10,000

Tax at 40% is £10,000× 0.4 = £4,000

Annual tax paid is £11,500

National insurance 2% rate is on 

£60,000− £50,000 = £10,000

National insurance is 12% of 

£50,000− £9500 = £40,500

Plus 2% of £10,000

= £4860+ £200

= £5,060

Monthly rate is £5,066.56÷ 12 =

£421.67

Student loan repayment is 9% of 

£33,425

Monthly repayment is £3008.25÷

12 = £250.69

Monthly income after deductions is 

£5,000−
£11,500

12
− £421.67−

£250.69 = £3,369.31
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Homework 10 – Solutions 

5) Solution Mark Total Comment

(a)

(b)

Annual income is 12 × £4,075 =

£48,900

Taxable income £48,900− £10,000 =

£38,900

20% Tax is £37,500 × 0.2 = £7,500

40% tax is charged on £38,900 −

£37,500 = £1,400

Tax at 40% is £1,400× 0.4 = £560

Annual tax paid is £8,060
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